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Linesweeper (Transparent) by Prasanna Seshadri
Theme: Clue Symmetry and Logic
(Originally on 2016 Polish Puzzle Championship)

Rules: Draw a single closed loop (without

intersections or crossings). Each clue 42

gives the number of surrounding cells 2 2 2

used by the loop. The loop can pass

through the clue cells. ,

Answer Entry: Enter the length in cells of 6 4 $

the horizontal loop segments from left to 513 e

right in the marked rows.

2 3 2
A 8|7
8|6
4|6 ) 3
B 7|7
8|9
6 / 6|7
C 7|7
5|6
D> | 4 4 1




